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Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

51547525101, 1
61547525102 2
61547525102, 3
E1547525104. 4

Question Number : 1 Question Id : 6154756437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547525101, 1
E1547525102. 2
B1547525103. 3
51547525104, 4

Question Number : 2 Question Id : 6154756438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547525105. 1
61547525106, 2
61547525107, 3
61547525108, 4

Question Number : 2 Question Id : 6154756438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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515475251051
61547525106, 2
61547525107, 3
61547525108, 4

Question Number : 3 Question Id : 6154756439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

615475251051
61547525110, 2
61547525111, =
E1547525112. 4



Question Number : 3 Question Id : 6154756439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475251051
61547525110, 2
61547525111, =
E1547525112. 4

Question Number : 4 Question Id : 6154756440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547525113. 1
B1547525114. 2
61547525115 3
61547525116, 4

Question Number : 4 Question Id : 6154756440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475251121
61547525114, 2
61547525115 3
E1547525116. 4

Question Number : 5 Question Id : 6154756441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547525117, 1
E15475251158. 2
E1547525118. 2
B1547525120. 4

Question Number : 5 Question Id : 6154756441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475251171
61547525118, 2
E1547525118. 3
BE1547525120. 4

Question Number : 6 Question Id : 6154756442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



BE1547525121.1
B1547525122 2
61547525123 3
61547525124, 4

Question Number : 6 Question Id : 6154756442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y o TTE-UCAAEE] 3T § Fefeiad § ° FRE TR o wE W A fag T e

(a)  THETTCHE WY

(b) AT MY

(¢) T Iy

(d)  FEEE Y

(e)  Toamem= wiy

Hr= feu U faen 9 1 wE 3w =99 Hirae

(1) (a). (b) 741 (c) (2) (b). (c) 74 (d)
(3) (b). (c) 74T (e) (4) (c), (d) 741 (e)
Options:

E1547525121.1
B1547525122 2
B1547525123. 3
61547525124, 4

Question Number : 7 Question Id : 6154756443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475251251
61547525126, 2
BE1547525127. 3
B1547525128. 4

Question Number : 7 Question Id : 6154756443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BE1547525126. 2
B1547525127. 3
61547525128, 4

Question Number : 8 Question Id : 6154756444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547525129, 1
61547525120 2
61547525121, 5
61547525122 4

Question Number : 8 Question Id : 6154756444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547525129, 1
E1547525120. 2
61547525121,
61547525132 4

Question Number : 9 Question Id : 6154756445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547525133. 1
E1547525124. 2
61547525135 3
61547525136, 4

Question Number : 9 Question Id : 6154756445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547525133. 1
E1547525124. 2
61547525135 3
61547525136, 4

Question Number : 10 Question Id : 6154756446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547525137, 1
E1547525138. 2
BE1547525139. 3
B1547525140. 4

Question Number : 10 Question Id : 6154756446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475251371
61547525128, 2
61547525139, 3
E1547525140. 4

Question Number : 11 Question Id : 6154756447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunmistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

515475251411
61547525142 2
61547525142 3
61547525144 4

Question Number : 11 Question Id : 6154756447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547525141. 1
61547525142 2
61547525142 3
61547525144 4

Question Number : 12 Question Id : 6154756448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3 teaching—learning process (4) management strategies



Options:

61547525145, 1
61547525146 2
E1547525147. 2
61547525148, 4

Question Number : 12 Question Id : 6154756448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547525145. 1
E154752514E. 2
B1547525147. 3
61547525148, 4

Question Number : 13 Question Id : 6154756449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B1547525149. 1
61547525150, 2
61547525151, 3
61547525152, 4

Question Number : 13 Question Id : 6154756449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547525148. 1
E1547525150. 2
51547525151, 3
61547525152, 4

Question Number : 14 Question Id : 6154756450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

615475251531
61547525154, 2
61547525155 3
E1547525156. 4

Question Number : 14 Question Id : 6154756450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475251531
61547525154, 2
61547525155 3
E1547525156. 4

Question Number : 15 Question Id : 6154756451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (4) :  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear definitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:
15475251571

E1547525158. 2
E1547525159. 3
B1547525160. 4

Question Number : 15 Question Id : 6154756451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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BE1547525157. 1
61547525158, 2
61547525159, 3
61547525160, 4

Question Number : 16 Question Id : 6154756452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E1547525161. 1
BE1547525162. 2
B1547525163. 3
61547525164, 4

Question Number : 16 Question Id : 6154756452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547525161, 1
61547525162 2
61547525162, 3
E1547525164. 4

Question Number : 17 Question Id : 6154756453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475251651
61547525166, 2
BE1547525167. 3



E1547525168. 4

Question Number : 17 Question Id : 6154756453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E1547525165. 1
61547525166 2
1547525167 2
E1547525165. 4

Question Number : 18 Question Id : 6154756454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHPU=9, JNU =9, then DU =7

(1) 5 (%) 6
(3) 4 4 7
Options:

E154752516%9. 1
E1547525170. 2
E1547525171. 3
B1547525172. 4

Question Number : 18 Question Id : 6154756454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 2 (2) 6
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Options:

BE154752516%9. 1
61547525170 2
61547525171, 3
E1547525172. 4

Question Number : 19 Question Id : 6154756455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475251721
61547525174, 2
E1547525175. 3
B1547525176. 4

Question Number : 19 Question Id : 6154756455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53. 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options:

615475251731
61547525174, 2
61547525175 3
E1547525176. 4

Question Number : 20 Question Id : 6154756456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 in two
yvears. Find out the principal amount.

(1) Rs. 1.900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547525177.1
B1547525178. 2
61547525175, 3
61547525180, 4

Question Number : 20 Question Id : 6154756456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547525177.1
E1547525178. 2
61547525175, 3
61547525180, 4

Question Number : 21 Question Id : 6154756457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547525181, 1
61547525182 2
E1547525183. 3
BE1547525184. 4

Question Number : 21 Question Id : 6154756457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547525181. 1
B1547525182. 2
61547525183, 3
61547525184, 4

Question Number : 22 Question Id : 6154756458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
(3) Sub contrary (4) Subaltern
Options:

E1547525185. 1
B1547525186. 2
B1547525187. 3
61547525188, 4

Question Number : 22 Question Id : 6154756458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475251851
61547525186, 2
E1547525187. 3
E1547525188. 4

Question Number : 23 Question Id : 6154756459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

615475251859, 1
615475251390, 2
615475251391, 3
E1547525182. 4

Question Number : 23 Question Id : 6154756459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154752518591
61547525130, 2
615475251391, 3
E15475251392. 4

Question Number : 24 Question Id : 6154756460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals”. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

BE1547525193. 1
61547525154, 2
615475251385 3
E15475251396. 4

Question Number : 24 Question Id : 6154756460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 2 =\ r ey
“gdl =519 TR AR T U%N & T & J2E 2 7

(1)  fagm fuy (2) T fag=
(3)  =EYm fmy (4) TEYE fEs
Options:

E1547525192. 1
615475251394, 2
E15475251395. 3
B1547525196. 4

Question Number : 25 Question Id : 6154756461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

615475251397, 1
6154752513958, 2
E1547525199. 3
E1547525200. 4

Question Number : 25 Question Id : 6154756461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“=ET U U9 #| 34: UF 931 g8 UF 991 99 #1” F AT H G ThHam 27

(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

615475251397, 1
E15475251958. 2
E154752519%9. 3
B1547525200. 4

Sub-Section Number: 2
Sub-Section Id: 615475287
Question Shuffling Allowed : Yes

Question Id : 6154756462 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154756463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547525201, 1
E1547525202. 2
E1547525203. 3
B1547525204. 4

Question Number : 27 Question Id : 6154756464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

615475252051
61547525208, 2
E1547525207. 3
E1547525208. 4

Question Number : 28 Question Id : 6154756465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

61547525209, 1
E1547525210. 2
BE1547525211. 3
B1547525212. 4

Question Number : 29 Question Id : 6154756466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475252131
61547525214, 2
61547525215 3
E1547525216. 4

Question Number : 30 Question Id : 6154756467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

615475252171
61547525218, 2
E1547525218. 3
B1547525220. 4

Question Id : 6154756462 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



s : 9= 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 70 fafus TR 51991 575 5 Fog 1 ol 1 39 =
2| 31 % 9R W 9vT HEA (26-30) 1 I S0
s U Tt T S e 1 H@en (FEE )

; FH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154756463 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 2002 F9T 9 2005 T 59 T UH FogA F DA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547525201, 1
B1547525202. 2
B1547525203. 3
B1547525204. 4

Question Number : 27 Question Id : 6154756464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

BE1547525205. 1
B1547525206. 2
B1547525207. 3
61547525208, 4



Question Number : 28 Question Id : 6154756465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAE0 TT5 T fahl = A F91 F 20 ATTwad T

(1) =My (2) EE
) T (4) = H T
Options:

B1547525209. 1
61547525210, 2
61547525211, 3
61547525212, 4

Question Number : 29 Question Id : 6154756466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 fahi 1 wfav Fe Tk Fogza 1 g i g § sAtashag = ur?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475252131
61547525214, 2
61547525215 3
E1547525216. 4

Question Number : 30 Question Id : 6154756467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Farse, fyedh faf @ =39 2001 ¥ 99 2007 F S0 w69 TREZ R

(1) ] (2) THY
(3) eEETm (4) == H U=
Options:

61547525217, 1
E15475252158. 2
BE1547525219. 3
B1547525220. 4

Sub-Section Number: 3
Sub-Section Id: 615475288



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154756468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

615475252211
E1547525222 2
61547525222 3
BE1547525224. 4

Question Number : 31 Question Id : 6154756468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FOI | GElad Tatatad) § Sl 9 FHaeE & 9 & o Fetaiad 8 9 w1 99T 2 7

(1) e (2) FuTEed
(3) == (4) F=F
Options:

B1547525221. 1
B1547525222 2
E1547525223. 3
61547525224, 4

Question Number : 32 Question Id : 6154756469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

B1547525225. 1
B1547525226. 2
G1547525227. 3
E1547525228. 4

Question Number : 32 Question Id : 6154756469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() TS @ =
(3 = (4) ™
Options:

B1547525225. 1
B1547525226. 2
B1547525227. 3
E1547525228. 4

Question Number : 33 Question Id : 6154756470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements. choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547525229, 1
61547525230 2

61547525221, 3
61547525232, 4

Question Number : 33 Question Id : 6154756470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =0 (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3HI T= &, 4 (R). (A) i T& == 74 2
(3) (A =E 2, g (R) &=t 75 =

4) (ATE T, FR) TR E

Options:

61547525229, 1
61547525220 2
E1547525221. 2
61547525232 4

Question Number : 34 Question Id : 6154756471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547525233, 1
61547525234 2
61547525235 2
61547525236 4

Question Number : 34 Question Id : 6154756471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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{1} 3"_ Ao dl

2 3 IEdE

(3) A

4 -
Options:

E1547525233. 1
BE1547525234. 2
61547525235, 3
G1547525236. 4

Question Number : 35 Question Id : 6154756472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—-View
(3) A-—Tutor

(4) A-Learner

Options:

61547525237, 1
61547525238 2
61547525239 2
E1547525240 4

Question Number : 35 Question Id : 6154756472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fafaa 8 & =0 =31 79 (7)) 9 391 Fe = ge w60 v gEel 39 (29) B 7
1) -

(2) -

(3) U-cHet

(4) U=

Options:
E1547525257. 1



E1547525238. 2
B1547525239. 3
61547525240, 4

Question Number : 36 Question Id : 6154756473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

615475252411
61547525242 2
61547525242, 3
E1547525244. 4

Question Number : 36 Question Id : 6154756473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 w18E 79, AeeEd 5§ R ety B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Ty
(¢) =AY

i

(d) -3 IEE

ety 7 8 w1 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

61547525241, 1
E1547525242. 2
E1547525243. 3
B1547525244. 4

Question Number : 37 Question Id : 6154756474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547525245 1
E1547525246. 2
E1547525247. 3
E1547525248. 4

Question Number : 37 Question Id : 6154756474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seqeT # 9989H | Fefatad 7 B a0 |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

61547525245 1
61547525246, 2
E1547525247. 3
E1547525248. 4

Question Number : 38 Question Id : 6154756475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (1v)
(4) (1) and (1v)

Options:
15475252459 1



B1547525250. 2
61547525251, 3
61547525252, 4

Question Number : 38 Question Id : 6154756475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(1) Y-9rfia, AMfeh AR a2adi arii-a a3k

1)  TEE TERE g i

(i) o TATH FEl THZ-TEG TS TEl 396 T=EE | T A7

(1v)  FHE AgETg

fafefiga el § 3 =81 e =4 -
(1) (1) ¥ (i)
(2) (i) 3T (iii)
(3)  (iil) # (iv)
4) (1) # W (i)
Options:
E1E47FEZEZ449 1
61547525250, 2

B1547525251. 3
B1547525252. 4

Question Number : 39 Question Id : 6154756476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
61547525252 1
E15475258254 2
61547525255 2
61547525256 4

Question Number : 39 Question Id : 6154756476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U TAE S3EE WA (0 fafee)
(1) a9 FA1 F IIE0 FAT A
(i)  ITafTE giEd w2

(i) = AaF F= F T F
(iv)  TTHfdE HETEAT 1 HE FA 7

(v) T SEA & AT T geA e 2

Friferfian fpet & @ F9 T
(1) (). (i) 37 (i)
@  @. Gv) (W)
(3) (). (i) H (v)

(4) (i), (iv) T (V)

Options:

615475252531
61547525254 2
61547525255 2
E1547525256. 4

Question Number : 40 Question Id : 6154756477 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

TEE A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3) gzl fawm (4) oTE™ 3R wEd =
Options:

61547525257, 1
E1547525258. 2
E1547525259. 3
B1547525260. 4

Yes



Question Number : 40 Question Id : 6154756477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o R weres f o et 20

(1) == =1 2 T F
(3) g faEe (4) EE AT TR T
Options:

B1547525257. 1
B1547525258. 2
61547525259, 3
B1547525260. 4

Question Number : 41 Question Id : 6154756478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyava Philosophy with Deductive — Inductive Process

Options:

61547525261, 1
61547525262 2
61547525262 2
E1547525264 4

Question Number : 41 Question Id : 6154756478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araier sone =+ e @ = g i

(1) TOeg T U9 Y e AR O & =9 o

(2)  TEavEE F YR W 5aHg 9T

(3)  ATE = A9 FOF I EAHEE F

(4)  TPTHATOIE - AR UG Ay = 39 e

Options:

61547525261, 1
E1547525262. 2
61547525262 5
61547525264 4



Question Number : 42 Question Id : 6154756479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching wvision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

B1547525265. 1
B1547525266. 2
G1547525267. 3
61547525268, 4

Question Number : 42 Question Id : 6154756479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fratofas 4 @ #0 vF aAfdeas 2fe TR w2 S A ¥ W U6 S § 9 H AeEeE 2an
23
(1) T©RAEART (2) A uH O AR 7S A
(3) TH I AN TF (4) w=F T
Options:

61547525265, 1
E1547525266. 2
B1547525267. 3
B1547525268. 4

Question Number : 43 Question Id : 6154756480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547525269, 1
61547525270 2
61547525271, 2
61547525272 4

Question Number : 43 Question Id : 6154756480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547525269, 1
61547525270, 2
1547525271 2
61547525272, 4

Question Number : 44 Question Id : 6154756481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

615475252731
61547525274, 2
B1547525275. 3
B1547525276. 4

Question Number : 44 Question Id : 6154756481 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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fafafias faFeat 8 9 31 =1 =999 Fifav .

1) @), (D) 7R @) (2) (). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

B1547525273. 1
B1547525274. 2
61547525275 3
E154752527E. 4

Question Number : 45 Question Id : 6154756482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes in the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (111) and (v)
(4) (1), (11) and (v)

Options:

61547525277, 1
61547525278 2
615475252793 2
61547525280 4



Question Number : 45 Question Id : 6154756482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 31 = T= 4 ° faem =9 9 weTeRs At (Suim) # metia g 1 mem Fifw

(1) M | Ag-a%

(i) A = IEEEAT

(i)  Afvew HvE-—am § =2

(iv)  fa=i= Feem

(v)  =E A TEare & weE T T e

(vi)  TEEITE ,‘_' T TETA

feTiaa fTFeT 8 © 399 =1 =999 Firan

(1) (@), (i) =W (vi)
@ (i), (v) FR (v)
(3) (i), (iii) 37 (iv)
@) (). () AT (v)

Options:

61547525277, 1
61547525278 2
61547525279, 2
61547525250, 4

Sub-Section Number: 4
Sub-Section 1d: 615475289
Question Shuffling Allowed : Yes

Question Id : 6154756483 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalism

later.

Sub questions

Question Number : 46 Question Id : 6154756484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
615475257511
61547525282 2
615475252583 2
1547525254, 4

Question Number : 47 Question Id : 6154756485 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547525285, 1
61547525286, 2
E1547525287. 3
E1547525288. 4

Question Number : 48 Question Id : 6154756486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547525289, 1
61547525290 2
61547525291, 2
61547525292 4

Question Number : 49 Question Id : 6154756487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

61547525253 1
61547525294, 2
61547525235 3
E1547525236. 4

Question Number : 50 Question Id : 6154756488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

B1547525297. 1
B1547525298. 2
B1547525255. 3
61547525200, 4

Question Id : 6154756483 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154756484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o a7 I I3 % SARE AR % e gRT 9 e BhT E 7

(1) SR G T TG 1 THTE 90
(2) e d=Tes 9

(3) oSl % w92 32vE 9

(4) HiEd wEsar

Options:

61547525281, 1
61547525282 2
61547525282 2
E1547525284 4

Question Number : 47 Question Id : 6154756485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR A

(1)  =E=ET F g 4 (2) T =t * fawg 9
(3)  FHEIHL =T 9 (4) TEg-sIg 9
Options:

BE1547525285. 1
B1547525286. 2
B1547525287. 3
61547525288, 4

Question Number : 48 Question Id : 6154756486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SIede & AIHR FF NZAIT HaHl gogr 74 917

() 96 TR 0 Ok S fe (2) AT s FEE
(3)  faadwar Fi == T
Options:

61547525289, 1
E1547525230. 2
E15475252391. 3
B1547525292. 4

Question Number : 49 Question Id : 6154756487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-4 AFTE AREH 4,

(3) A=W A TgdE (4) THg wHT 9 e a@m
Options:

61547525253 1
61547525294, 2
61547525235 3
615475252396, 4

Question Number : 50 Question Id : 6154756488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547525297, 1
61547525298, 2
61547525299 2
61547525200 4

FPARET II Wormnen Studies

Section Id : 61547588
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475290
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154756489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who coined the term intersectionality?

(1) Mary Church Terrell (2) EKimberle Williams Crenshaw
(3) Mary Wollstone Craft (4) Barbara Smith
Options:

E1547525201. 1
B15475252302. 2
61547525203, 3
61547525304, 4

Question Number : 51 Question Id : 6154756489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525301, 1
E1547525302. 2
E1547525303. 3
B1547525204. 4

Question Number : 52 Question Id : 6154756490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which city of India was the first LGBT pride march held in 19997

(1) Calcutta (2) Bombay
(3) Della (4) Bangalore
Options:

61547525205, 1
E1547525306. 2
E1547525307. 3
E1547525308. 4

Question Number : 52 Question Id : 6154756490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR % T30 =T | 1090 | wuy v i & 9 Wi=s o syt o o ?

(1) BTG el (2) P
(3)  Taeett 4) wTER
Options:

61547525205, 1
61547525206, 2
E1547525307. 3
61547525308, 4

Question Number : 53 Question Id : 6154756491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“The practice that legitiimizes men's dominant position in soclety and justifies the
subordination of the common male population. women and other marginalized groups” is
termed as :

(1) Hegemonic Masculinity
(2) Patriarchy

(3) Gender Identity

(4) Gender Order

Options:

61547525509 1
615475252100 2
61547525211,
61547525312 4

Question Number : 53 Question Id : 6154756491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475252091
61547525310 2
61547525311 3
61547525312 4

Question Number : 54 Question Id : 6154756492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following said :

Feminizm has fought no wars. It has killed no opponents. It has set up no concentration
camps. starved no enemies, practiced no cruelities. Its battles have been for education..... If
someone savs, "Oh I'am not a feminist”. I ask why? What's vour problem?

(1) Devalki Jain (2) Dale Spender
(3) Akasha Glora Hull {4) Barbara Smith
Options:

BE1547525213. 1
61547525214, 2
61547525215 3



BE1547525316. 4

Question Number : 54 Question Id : 6154756492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

615475253121
E1547525314. 2
E1547525215. 3
B1547525216. 4

Question Number : 55 Question Id : 6154756493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Name the Gay magazine which started as a newsletter 1n 1990 :

(1) Gay pride (2) Bombay Dost
(3) Friends (4) Fire
Options:

BE1547525217. 1
61547525218, 2
61547525219, 3
E1547525320. 4

Question Number : 55 Question Id : 6154756493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1990 o F==T T = &9 § URY Fi 7 71 g F A = oo

(1) T s (2) @ =
(3) @s=H (4) TR
Options:

£1547525317.

BE1547525218.
B1547525219.
61547525320,
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Question Number : 56 Question Id : 6154756494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following vear the ‘Beiying Declaration’ and ‘Beiying Platform for Action’ was
adopted?

(1) 1985 (2) 2000
(3) 2015 (4) 1995
Options:

BE1547525321. 1
B1547525322. 2
B1547525323. 3
61547525324, 4

Question Number : 56 Question Id : 6154756494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Feettea 0 ° e ad 9 it awon’ G s =g st aw w0 A =y
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(2) 2000

(3)

I
=
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(4) 1995

Options:

61547525221, 1
61547525322 2
61547525323 2
61547525324 4

Question Number : 57 Question Id : 6154756495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who said this?

“For disabled feminist neither the disability movement nor the women's movement fully
address her concern. We must educate both movements 1n the 1ssues specifically affecting
disabled women especially since the women's movement has shown a willingness to learn
about the 1ssues affecting women of dual 1dentities...”

(1) Stratton Blackwell (2) Mary John
(3) Anita Ghai (4) Pratiba Parmar
Options:

E15475255325. 1
E1547525326. 2
B1547525327. 3
61547525328, 4

Question Number : 57 Question Id : 6154756495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) T EE @ f .
Options:

E15475255325. 1
E1547525326. 2
B1547525327. 3
61547525328, 4

Question Number : 58 Question Id : 6154756496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the first breast milk after the baby’s birth, which helps to protect
the baby from infection and disease?

(1) Colostrum (2) Cholosterol
(3) Ammiotic fluad (4) TUmbilical flad
Options:

61547525329 1
B15475252330. 2
B15475252321. 3
B1547525332. 4

Question Number : 58 Question Id : 6154756496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
=4 % WeH % S a8 H i = TRl T G S i GehE0 AR 17 § Sl B 7
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(1)  =r=es (2) AR
(3)  uHHARZE a (4) THfEAFA T
Options:

615475253291
61547525330, 2
E1547525321. 3
BE15475252332. 4

Question Number : 59 Question Id : 6154756497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following conference made a shift from Maternal Health to Reproductive
Health?

(1) Fourth World Conference on Women

(2) International Conference on Population and Health

(3) International Conference on Population and Development

(4) UN Conference on Reproductive Health and Women Empowerment.
Options:

B15475252333. 1
61547525234, 2
61547525335 3
61547525356, 4

Question Number : 59 Question Id : 6154756497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525333, 1
E15475255334. 2
E1547525335. 3
B15475252336. 4

Question Number : 60 Question Id : 6154756498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following states have the highest and lowest child sex ratio according to 2011
census?

(1) Kerala and Punjab (2) Mizoram and Punjab
(3) Arunachal Pradesh and Harvana (4) Kerala and Harvana
Options:

E1547525337. 1
B1547525238. 2
61547525339, 3
61547525240, 4

Question Number : 60 Question Id : 6154756498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525337, 1
61547525338, 2
61547525339, 3
E1547525340. 4

Question Number : 61 Question Id : 6154756499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per WHO which of the following 1= a reason for women dyving globally with chronic
Obstructive Pulmonary Diseases (COPD)?

(1) Indoor smoke smell inhaled while cooking on open fire or traditional stoves.
(2) Exposure to hazardous environment at work place.
(3) Lack of nutrition.

(4) Bad reproductive health.

Options:

£1547525341. 1
E1547525242 2
61547525242 5
61547525344 4

Question Number : 61 Question Id : 6154756499 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547525341. 1
61547525242 2
61547525242 5
61547525344 4

Question Number : 62 Question Id : 6154756500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which 1s not the cause of Maternal Mortality in India?

(1) Hemorrhage (2) Obstructed labour
(3) Onchocerciasis (4) Abortion
Options:

B15475252345. 1
615475252346, 2
E1547525347. 3
61547525348, 4

Question Number : 62 Question Id : 6154756500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =9 (2) wiga oA
(3) TR TETEATEE (4) T
Options:

B15475252345. 1
615475252346, 2
E1547525347. 3
61547525348, 4

Question Number : 63 Question Id : 6154756501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 18 the motto of the National Association of Coloured women?

(1) Lifting as we sink (2) Lafting as we climb
(3) Lifting as we need (4) Lifting as we strive
Options:

6154752524591
61547525350, 2
61547525351, 3
61547525352 4

Question Number : 63 Question Id : 6154756501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



BE154752523459. 1
61547525350, 2
61547525351, 3
61547525352 4

Question Number : 64 Question Id : 6154756502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following institutions of society determine the situation of women 1n a given

soclety?

(1) Schooling. Socialization. Race, Ethics

(2) Familv. Economy. Religion. Polity

(3) Community. Household. Cazste. Culture

{4) Class. Ethnicity. Type of Productive activities. Ethics

Options:
615475255531

E1547525354. 2
E1547525355. 3
61547525356, 4

Question Number : 64 Question Id : 6154756502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fretfefias 5 & weT 1 F v e S A A At R w2
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(2) Tian, AeqaEs, g, M

(3) WA, ufEw, S, A5

(4) =, A, IAEAREL, TRl i TN, A= A
Options:
61547525353, 1
61547525354, 2

61547525355, 3
61547525356, 4

Question Number : 65 Question Id : 6154756503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following programme provides traiming. upgradation of skills and credit access
for poor and marginalized women 1n traditional and informal sectors?

(1) UJJWALA (2) Skill India
(3) SABLA (4 STEP

Options:



BE1547525357. 1
61547525358, 2
61547525359, 3
61547525360, 4

Question Number : 65 Question Id : 6154756503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) == 4) =
Options:

61547525357, 1
61547525358, 2
61547525359, 3
E1547525360. 4

Question Number : 66 Question Id : 6154756504 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following measures introduced by UNDP in Human Development Report in
1995 to measure the Gender Gap?

(1) Gender Related Development Index (2) Gender Empowerment Index
(3) Gender Gap Index (4) Gender Inequality Index
Options:

B15475255361. 1
B1547525362. 2
61547525363, 3
61547525364, 4

Question Number : 66 Question Id : 6154756504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B15475255361. 1
B1547525362. 2
61547525363, 3



E1547525364. 4

Question Number : 67 Question Id : 6154756505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following vear homosexuality was decriminalized by law in India?

(1) 2017 (2) 2018
(3) 2015 (4y 2013
Options:

61547525265,
61547525366,

B1547525367.
61547525368,

o LI M

Question Number : 67 Question Id : 6154756505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2017 (2) 2018
(3) 2015 (4) 2013
Options:

615475255365, 1
61547525366, 2
E1547525367. 3
61547525368, 4

Question Number : 68 Question Id : 6154756506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
CEDAW permits reservation from states parties. Reservation to which two Articles 1n

particular are considered 1mpermissible?

(1) Article 3 and 15 (2) Article 2 and 16
(3) Article 4 and 17 (4) Article 5 and 16
Options:

61547525369, 1
61547525370, 2
61547525371, 3
B1547525372. 4

Question Number : 68 Question Id : 6154756506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475253649, 1
61547525370, 2
E1547525371. 3
B1547525372. 4

Question Number : 69 Question Id : 6154756507 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s correct about CAPART?

(1) CAPART 1s nodel agency to promote voluntary action in urban development.

(2) CAPART 1s mainly entrusted with the task of devolution of funds from the
programme budgets to voluntary organizations.

(3) CAPART 1s under the admimstrative jurisdiction of Ministry of Human Resource and
Development.

(4) The General body of CAPART has a maximum strength of 90 members and its
executive committee has 20 members.

Options:

615475253731
61547525374 2
615475253275 2
61547525276, 4

Question Number : 69 Question Id : 6154756507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525373 1

61547525374, 2

61547525375, 3

61547525376, 4



Question Number : 70 Question Id : 6154756508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following concept encompasses “The consistent integration of gender concerns
into the design. 1mplementation momtoring and evaluation of policies. plans. programmes.
activities and projects at all levels™

(1) Gender Analysis

(2) Affirmative Action

(3) Gender Equality

(4) Gender Mainstreaming

Options:

61547525377, 1
61547525378 2
615475253279 2
E1547525280. 4

Question Number : 70 Question Id : 6154756508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ffafias o o frg sEaron 9 72 wmias 27

TRl T AT, AL, SEEET, WAEE A GRS 6 Aneeey, e, e R
O g1 | et fearet = aus i

(1) == favemm
(2) TS
(3) s =AW

(4) S gEFgm

Options:

61547525377, 1
61547525378 2
615475253279 2
E1547525280. 4

Question Number : 71 Question Id : 6154756509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What are the key institutional sites stated by Naila Kabeer in her social relations frame
work?

(1) State. Market, People and Government
(2) State, Market, Community and Family/Kinship
(3) Government, Commumty, NGO’'s and People
(4) Family, Marrage. Religion and State

Options:

61547525281, 1

61547525382 2

61547525383, 3
61547525384, 4

Question Number : 71 Question Id : 6154756509 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

BE1547525381. 1

B1547525382. 2

61547525383, 3
61547525384, 4

Question Number : 72 Question Id : 6154756510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following does not fall under the category of "Women's Triple Roles™

(1) Productive (2) Governance
(3) Reproductive (4) Community Management
Options:

61547525385, 1
E1547525386. 2
61547525387, 3
E1547525388. 4

Question Number : 72 Question Id : 6154756510 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547525385. 1
E1547525386. 2
B1547525387. 3
615475252388, 4

Question Number : 73 Question Id : 6154756511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1z the aim of ‘She Box Portal™?

(1) It aims to provide information on different programmes of women and children by
central government.
(2) To provide women NGO's to interact with government.
(3) To provide speedier remedy to women facing sexual harassment at work place.
(4) To provide interaction with victims of violence and police.
Options:

E1547525389. 1
61547525390, 2
615475253581, 3
61547525392 4

Question Number : 73 Question Id : 6154756511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475253591
61547525330, 2
615475253491 =
615475253202 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following term 1s more appropriate to define “A numerical concept that its
concerned with the relative equality about number and proportion of women. men. girls and
boys"?

(1) Gender Analysis (2) Gender Statistics
(3) Gender Parity (4) Gender Audit
Options:

E1547525393. 1
B15475252394. 2
61547525385 3
61547525396, 4

Question Number : 74 Question Id : 6154756512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475255392, 1
E1547525354. 2
E15475253895. 3
B15475253596. 4

Question Number : 75 Question Id : 6154756513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Whach of the following Article in the constitution provides “Not less than one third of the
total number of offices of Chairpersons 1n the ‘Panchavats’ at each level to be reserved for
women'?

(1) Article 243 D (4) (2) Article 244 T (4)
(3) Article 245 T (3) (4) Article 244 D (2)
Options:

B1547525397. 1
61547525398, 2
61547525399, 3
61547525400, 4

Question Number : 75 Question Id : 6154756513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475253397, 1
E1547525398. 2
B1547525399. 3
61547525400, 4

Question Number : 76 Question Id : 6154756514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which organization was established by the UN after 1975 international women's conference
1 Mexico as a way of reaching out to the women 1n the World?

(1) UNDP (2) UNIFEM
(3) UNICEF (4) UNESCO
Options:

61547525401, 1
61547525402 2
61547525403, 3
E1547525404. 4

Question Number : 76 Question Id : 6154756514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525401, 1
E1547525402. 2
E1547525403. 3
B1547525404. 4

Question Number : 77 Question Id : 6154756515 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following conferences. shift from WID to GAD was 1mitiated?

(1) Nairob1 Conference
(3) Mexico Conference
Options:

515475254051
61547525406, 2
61547525407, 3
E1547525408. 4

(2) Beying Conference
(4) Copenhagen Conference

Question Number : 77 Question Id : 6154756515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547525405, 1
61547525406, 2
61547525407, 2
61547525408, 4

Question Number : 78 Question Id : 6154756516 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Uniform Civil Code will ensure :

(I) Gender Justice

(II) = Law free from discrimination
(ITT) Legal Pluralism

(IV)  Umformity across communities

Choose most appropriate option :

(1) (IIT) and (IV)

(2) (I). (IT) and (IV)

(3) (II). (IIT) and (IV)

(4) (T). (IT). (III) and (TV)
Options:

61547525405 1
61547525410, 2
61547525411, =
BE1547525412. 4
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MCQ Option Shuffling: No Display Question Number : Yes



Question Number : 78 Question Id : 6154756516 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Options:
61547525409, 1

E1547525410. 2
B1547525411. 3
B154752541%. 4

Question Number : 79 Question Id : 6154756517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s the meaning of ‘Comparable Worth'?

(1) Egqual pay for Men and Women

(2) Equal status for Men and Women

(3) Equal pay for equal work

(4) Equal pay for Productive and Reproductive work

Options:

61547525413, 1
61547525414 2
61547525415 =
61547525416, 4

Question Number : 79 Question Id : 6154756517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525413, 1
61547525414 2
61547525415 =
61547525416, 4

Question Number : 80 Question Id : 6154756518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s not a parameter of Gender Gap according to World Economic
Forum?

(1) Economic Opportumty (2) Health and Survival
(3) Femimization of work (4) Political Empowerment
Options:

E1547525417. 1
E1547525418. 2
61547525415 3
61547525420, 4

Question Number : 80 Question Id : 6154756518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475254171
61547525418, 2
E1547525418. 3
B1547525420. 4

Question Number : 81 Question Id : 6154756519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which case accelerated women's movement 1into asking for reform of the criminal law dealing
with custodial rape?

(1) Imrana (2) Mathura
(3) Shah Bano (4) Bhanwari Dev1
Options:

BE1547525421. 1
B1547525422. 2
B1547525423. 3
61547525424, 4

Question Number : 81 Question Id : 6154756519 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475254211
G1547525422 2
E1547525423. 3
E1547525424. 4

Question Number : 82 Question Id : 6154756520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following examined femimst writings that produced the third world women
as a singular monolithic subject 1n a process that she called "discursive colomization™

(1) Ruth Vanita (2) Chandra T. Mohanty
(3) Andre Lorde (4) Helene Cixous
Options:

E1547525425. 1
E154752542E. 2
E1547525427. 3
B1547525428. 4

Question Number : 82 Question Id : 6154756520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frefeifiga § @ fFm 38 ArEEl ome S| | Ee gdim v i afeen w356 g0 " S 9
‘FEYAF TUHETE W AT § Ul sFaived faeg % =Y H g 2 7

(1) =9 T (2) ==g1 #. Al
(3)  #E AE (4) FE HH
Options:

615475254251
E154752542E. 2
E1547525427. 3
E1547525428. 4

Question Number : 83 Question Id : 6154756521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In July 1991. with the structural adjustment programme, which of the following was said to
be a landmark in the Indian Economic development?

(1) The Devaluation of the rupee
(2) Gender balanced Budget

(3) Increase in the purchasing power of rupee
(4) Controlling femimization of labour
Options:

61547525429 1
E15475254230. 2
E1547525421. 3
B1547525432. 4

Question Number : 83 Question Id : 6154756521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£1547525429. 1
£1547525430. 2

E1547525421. 3
BE1547525432. 4

Question Number : 84 Question Id : 6154756522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

“WWPR' Stands for :

(1) World Women Pay Rate (2) Women Work Participation Rate
(3) Women Work Prevailing Rate (4) Working Women Privileges and Rights
Options:

61547525433 1
61547525434, 2
61547525435 3
615475254356, 4

Question Number : 84 Question Id : 6154756522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547525433 1
61547525434, 2
61547525435 3
E1547525436. 4

Question Number : 85 Question Id : 6154756523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following feminist thinkers 1s not associated with the subsistence approach
based on world capitalist system?

(1) Maria Mies (2) Veronika Bennholdt Thomson
(3) Ruth Vanita (4) Claudia Von Werlorf
Options:

E1547525437. 1
B1547525438. 2
B1547525435. 3
61547525440, 4

Question Number : 85 Question Id : 6154756523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547525437, 1
61547525438 2
E1547525429 =2
61547525440, 4

Question Number : 86 Question Id : 6154756524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following 1= the writer of “Is Female to Male as Nature 1s to Culture™?

(1) Leela Dube (2) Uma Chakravarthy
(3) Sherry B. Ortner (4) Vandana Shiva
Options:

BE1547525441. 1
B154752544%2 2
61547525443 3
61547525444, 4

Question Number : 86 Question Id : 6154756524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525441, 1
E1547525442 2
B1547525443. 3
B1547525444. 4

Question Number : 87 Question Id : 6154756525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following stated :

“Members of the LGBT community and their famly members are owed an apology from
society for being denied equal rights over the years”.

(1) Indu Malhotra (2) Ranjana Desai
(3) Indira Banerjee (4) Gyvan Sudha Misra
Options:

61547525445 1
6154752544E. 2
61547525447, 3
615475254458 4
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Correct Marks: 2 Wrong Marks: 0
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Options:

B1547525445. 1
61547525446, 2
61547525447, 3
61547525448, 4

Question Number : 88 Question Id : 6154756526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the Thinker whose selections of writings are in the work “Against the Madness of
Manu”.

(1) M.K. Gandh1 (2) B. R. Ambedkar
(3) Jyoti Rao Phule (4) Raja Ram Mohan Roy
Options:

515475254459 1
61547525450, 2
61547525451, 3
61547525452, 4

Question Number : 88 Question Id : 6154756526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525449 1
61547525450, 2
E1547525451. 3
B1547525452. 4



Question Number : 89 Question Id : 6154756527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Knowing differently was the basis for changing the conditions of women's lives”.

The above statement 1s part of
(1) Femimist colomalism

(2) Femimist Standpoint theory

(3) The Feminine mystigue
(4) Post Feminism
Options:

E1547525453. 1
B1547525454. 2
61547525455 3
61547525456, 4

Question Number : 89 Question Id : 6154756527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e 2 W AT AiEen & A= i T 8 9iEeT W EE °9r |

T U e § ° R g e v
(1)  FAEE S
{2) | {a J,.I -"-:-:_i:_'-rj = E.:_, iHr.d,E

(3) ARETE] TR

(4)  FTR-ARER
Options:
615475254531
61547525454 2
61547525455 =
61547525456 4

Question Number : 90 Question Id : 6154756528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following term 1s associated with “Female controlled female sexuality™?

(1) Hetero-sexuality (2) Ambivalent sexism
(3) Bi-sexual (4) Lesbliamism
Options:

61547525457, 1
61547525458, 2
61547525459, 3
E1547525460. 4
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Options:

B1547525457. 1
61547525458, 2
61547525455, 3
61547525460, 4

Question Number : 91 Question Id : 6154756529 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Who among the following was the piloneer eritigue of ‘Brahmanical Patrarchy™?

(1) Savitri Bai Phule (2) Jvotiba Phule
(3) Muktabal (4) Tarabai Shinde
Options:

E1547525461. 1
B1547525462. 2
B1547525463. 3
61547525464, 4

Question Number : 91 Question Id : 6154756529 Question Type: MCQ Option Shuffling : No Display Question Number :
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Options:

BE1547525461. 1
E1547525462. 2
B1547525463. 3
61547525464, 4

Question Number : 92 Question Id : 6154756530 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Who among the following said :

“When did you ever test the intelligence of women that you can so easily designate them as
foolish creatures?... You withheld education and knowledge from them so how do you decide

they are incapable of learning™?

(1) Iswar Chandra Vidyasagar (2) Raja Rammohan Roy
(3) Rabindranath Tagore (4) Bankim Chandra Chatterjee
Options:

B1547525465. 1
61547525466, 2
E1547525467. 3
61547525468, 4

Question Number : 92 Question Id : 6154756530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) v == s (2) T THEET T
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Options:

E1547525465. 1
E15475254EE6. 2
BE1547525467. 3
B1547525468. 4

Question Number : 93 Question Id : 6154756531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the theme of the International Women's yvear 20197

(1) Women 1n the changing world of war (2) World free of violence against women
(3) BalanceforBetter (4) Heforshe
Options:

61547525469, 1
E1547525470. 2
B1547525471. 3
B1547525472. 4

Question Number : 93 Question Id : 6154756531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154752546%9. 1
B1547525470. 2
B1547525471. 3
G1547525472. 4

Question Number : 94 Question Id : 6154756532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following view assumes that "What men do 1s more important than what
women do™?

(1) Gender Performativity (2) Androcentricism
(3) Biological determinism (4) Androgvnous
Options:

615475254731
61547525474, 2
61547525475 3
E1547525476. 4

Question Number : 94 Question Id : 6154756532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547525473. 1
B1547525474. 2
61547525475 3
E1547525476. 4

Question Number : 95 Question Id : 6154756533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who commented that “only a broad — based movement to develop women's — studies within
the general educational system could initiate a process to prevent future Injustice in the
context of marginal position of women 1n education”.

(1) Maithreyi Krishnaraj (2) Neera Desai
(3) Vina Mazumdar (4) Madhuri Shah
Options:

B1547525477. 1
61547525478, 2
615475254759 3
61547525480, 4

Question Number : 95 Question Id : 6154756533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) = Fomr (2) iz
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Options:

61547525477, 1
61547525478, 2
E1547525479. 3
E1547525480. 4

Question Number : 96 Question Id : 6154756534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which test determines the level of gender equality present in fiction?

(1) SCALE Test (2) Bechdel Test
(3) Psycho analytical Test (4) Guttman Scale
Options:

BE1547525481. 1
B1547525482. 2
615475254583, 3
61547525454, 4

Question Number : 96 Question Id : 6154756534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547525481. 1
B1547525482. 2
B1547525483. 3
61547525484, 4

Question Number : 97 Question Id : 6154756535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The provision for “Right to marry according to one’s own cholce rrespective of caste or
religion ete.” 1s covered under :

(1) Hindu Marrage Act (2) Uniform Civil Code
(3) Special Marrage Act {(4) Mushm Personal Law
Options:

E1547525485. 1
E1547525486. 2
B1547525487. 3
615475254588, 4

Question Number : 97 Question Id : 6154756535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547525485, 1
E1547525486. 2
BE1547525487. 3
61547525488, 4

Question Number : 98 Question Id : 6154756536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Why 1= gender equality important according to Sustainable Development Goals?

(I) Create foundation of a peaceful and sustainable world.
(I}  Alleviation of poverty.
(IIT) Freedom from imperialism and war.

(IV) Equal rmghts. economic resources and access to ownership of property for women.

Select the correct option :

(1) (I) and (IV) only

(2) (I). (ITI) and (IV) only
(3) (I). (IT) and (IV) only
(4) (IV) only

Options:

61547525489, 1
61547525490 2
61547525491 =
61547525492 4

Question Number : 98 Question Id : 6154756536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) === (D, (ID #Hw (IV)
4)  Fa= (IV)

Options:

615475254589, 1
61547525490 2
61547525491 =
61547525492 4

Question Number : 99 Question Id : 6154756537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Women became empowered through collective reflection and decision making. The
parameters of empowerment are :

(I) building a positive self-image and self confidence.

(I) to create dvnamic managerial structure to cope with the targets.

(ITII) developing ability to think critically.

(IV) providing the wherewithal for economic independence.

Choose the most appropriate option :

(1) (IT). (ITII) and (IV) (2)y (II) and (III)
(3) (IN. (II) and (III) (4y (D). (III) and (IV)
Options:

615475254392 1
615475254394, 2
E15475254385. 3
E15475254396. 4

Question Number : 99 Question Id : 6154756537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE15475254593. 1
B1547525454. 2
615475254385 3
61547525436, 4

Question Number : 100 Question Id : 6154756538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the prominent art historians from the hst below :

(I) Linda Nochlin (I) Griselda Pollock
(ITI) Angela Mc Robbie (IV) Clare Short

Select the correct option :

(1) (I) and (II) only (2) (I) and (III) only
(3) (IT) and (III) only (4) (D) and (IV) only
Options:

615475254397, 1
6154752543958, 2
E15475254599. 3
E1547525500. 4

Question Number : 100 Question Id : 6154756538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ T 8 ' LY i -
= = Tz JAl H WA Fell 3[datEhn =1 TEEE T

@ e e D) fufme=r T
(IIT)  U==eT o Tl (IV) 9 72

o2 faFeg .1 999 1

(1)  =Faa (D = (1D (2)  ==e (D i (10D
(3)  =as (ID = (11D @) Fa= (D s (V)
Options:

B15475254597. 1
615475254588, 2
6154752543949, 3
61547525500, 4

Question Number : 101 Question Id : 6154756539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fluidity of gender and sexuality in Indian mythological literature has been well documented
by authors hike :

(I) Saleem Kidwai (II) Arundhati Roy

(III) Ruth Vanita (IV) Devdutt Patnaik

Select the correct option :

(1) (IT) and (III) only (2) (I). (II) and (IIT) only

(3) (ITI) only (4) (I). (ITI) and (IV) only
Options:

61547525501, 1



B1547525502. 2
61547525503, 3
61547525504, 4

Question Number : 101 Question Id : 6154756539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547525501, 1
61547525502, 2
E1547525503. 3
B1547525504. 4

Question Number : 102 Question Id ;: 6154756540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following are correct about ‘Strategic gender needs™?

(I Abolition of sexual division of labour.
(II) The removal of instutionalized forms of discrimination.
(ITII) Improvement of basic needs such as food. shelter and water.

(IV)  Challenge the reproductive roles of women.

Choose the correct answer :

(1) (D). (IT). (ITI) and (IV) (2) (II) and (IV) only
(3) (I) and (II) only (4) (I). (II) and (IV) only
Options:

E1547525505. 1
61547525506, 2
61547525507, 3
61547525508, 4

Question Number : 102 Question Id : 6154756540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525505,
£1547525506,
£1547525507.
61547525508,

o IR

Question Number : 103 Question Id : 6154756541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are correct about ‘case study research’

(I) Study of an nstitution/organmization or individual

(IT) Involves an empirical study of a phenomenon
(III) Needs an investigator with skills of analytical thinking

(IV)  Provides comprehensive quantitative data

Choose the corret answers :

(1) (I). (IT) and (IV) only (2) (ID), (IIT) and (IV) only
(3) (I). (II) and (III) only (4) (I). D), (III) and (IV)
Options:

61547525509, 1
61547525510, 2
E1547525511. 3
BE1547525512. 4

Question Number : 103 Question Id : 6154756541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  =ae (D, (I =7 (1D (4) (D), (ID, (IID = (IV)
Options:

61547525509, 1
61547525510, 2
61547525511, 3
BE1547525512. 4

Question Number : 104 Question Id : 6154756542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are symptoms of malnutrition among children?

(D) Underweight (I Anemia
(ITI) Stunted growth (IV) Wrestling

Choose the correct answer :

(1) (I). (IT). (III} and (IV) (2) (I and (IV) only
(3) (I). (II) and (ITI) only (4) (I) and (ITI) only
Options:

BE1547525513. 1
61547525514, 2
61547525515 3
E1547525516. 4

Question Number : 104 Question Id : 6154756542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475255131
61547525514, 2
61547525515, 3
E1547525516. 4

Question Number : 105 Question Id : 6154756543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Behaviours commonly associated with rape culture include :

(I) Victim-blaming (I) Slut Shaming

(IIT)  Adultery (IV) Sexual Objectification

Select the correct option :

(1) (I) only (2) (II) only

(3) (III) only (4) (I). (II) and (IV) only
Options:

BE1547525517. 1
61547525518, 2
61547525519, 3
E1547525520. 4

Question Number : 105 Question Id : 6154756543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547525517, 1



E1547525518. 2
61547525515, 3
B1547525520. 4

Question Number : 106 Question Id : 6154756544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Why is the National Conference on Women's Studies in April 1981 at the SNDT Women's
University in Mumbai considered sigmificant for women's studies movement?
(I) It was financed by various agencies of the country.

(II) The deliberations at the conference produced sufficient material for lauching a
movement for women's studies.

(ITI) It ammed for the first time to stimulate a concern for women's 1ssues by promoting
women's studies.

(IV) It had very large gathering of men and women.
Choose the correct option :

(1) (IT) and (III) only (Z) (D. (II) and (III) only
(3) (I). (ITI) and (IV) only (4) (II) and (IV) only
Options:

B1547525521. 1
B1547525522 2
61547525523, 3
E1547525524. 4

Question Number : 106 Question Id : 6154756544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475255211
E1547525522 2
61547525522 3
E1547525524. 4

Question Number : 107 Question Id : 6154756545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
Nairs in Kerala were :

(D Matrilineal
(III) Matriloeal

Choose the rght option :

(1) (II) and (IV) only
(3) (I). (IIT) and (IV)

Options:

61547525525, 1
E1547525526 2
61547525527, 5
61547525528 4

(II) Matrifocal
(IV) Matrarchal

(2) (D and (I1I) only
(4) (II) and (IIT) only

Question Number : 107 Question Id : 6154756545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 108 Question Id : 6154756546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Eco feminism was based on the gendered experience of environment insisting and shaping
process of ecological change through which of the following themes :

(I) (Gendered Knowledge

(II) Gendered Environmental Rights

(III) Technology as the source of abundance (IV) Green Revolution

Choose the correct option :

(1) (@) and @IV)
(3) (D) and (I)

Options:

(2) (II) and (IIT)
(4) (III) and (IV)



BE1547525529. 1
61547525530, 2
61547525521, 3
61547525532, 4

Question Number : 108 Question Id : 6154756546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547525529. 1
B1547525530. 2
61547525521, 3
61547525532, 4

Question Number : 109 Question Id : 6154756547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Femimization of povety 1s related to :
(I) Women are responsible for poverty.
(I.:.:' Women and men experience poverty differently.
(IIT) New- liberal economy.
(IV) Fragmentization of production process.

Choose the most appropriate answer :

(1) (I) and (IV) (2) (IL). (ITII) and (IV)
(3) (I). (III) and (IV) (4) (D). (II) and (III)
Options:

61547525532, 1
61547525534, 2
E1547525535. 3
BE1547525536. 4

Question Number : 109 Question Id : 6154756547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547525533, 1
61547525534, 2
E1547525535. 3
BE1547525536. 4

Question Number : 110 Question Id : 6154756548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following are variants of Women In Development (WID)?

(I) Welfare (II) Equity

(III) Ant:1 poverty (IV) Global Capitalism

Choose the correct optlon :

(1) (IT) and (IV) only (2) (I) and (III)

(3) (I). (IT) and (III) only (4y (I). dII) and (IV)
Options:

61547525537, 1
61547525538, 2
E1547525539. 3
E1547525540. 4

Question Number : 110 Question Id : 6154756548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547525537. 1
B1547525538. 2
61547525539, 3



E1547525540. 4

Question Number : 111 Question Id : 6154756549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following are the features of 73" Amendment of the Constitution?

(a) Restoration of the important role of Gram Sabha.

(b) Three tier system of Panchavat throughtout the country except the states with

population less than thirty lakhs.

(c) One third of total number of seats to be filled by direct election. are reserved for
Women.
(d) Election of Panchayats to be conducted by the Election Commussion of India.

Choose the correct option :

(1) (a) and (d)
(2) (a) and (c)
(3) (c) and (d)

(4) (b) and (c)
Options:
615475255411
61547525542 2
61547525543 =
61547525544, 4

Question Number : 111 Question Id : 6154756549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are correct about ‘Grounded Theoryv' in Research?

(a) Qualitative approach
(b) Test the existing Hypothesis
(c) Develop the theory from the Research data

(d) Deductive approach

Choose the correct option :

(1) (a) and (c) are correct
(2) (a) and (b) are correct
(3) (b) and (c) are correct

(4) {(b) and (d) are correct

Options:

61547525545 1
61547525546, 2
61547525547, o
61547525548 4

Question Number : 112 Question Id ;: 6154756550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frefefEd § § F21 my g9l UEss SN % o H JEl B Y
(a) TR e

—

(b)  SHHH THEETAT T GHE

(c) oty wEHT e ® g T w9

(d)  fET=E FfEwm

Tal faeT =4

1) (a) 3 (o) T#l =
(2 (a) 3R (b) 7 =
(3  (b) 3 (c) W &
(4)  (b) 3R (d) 7 & -

Options:

61547525545, 1
61547525546 2
61547525547 2
£1547525548 4

Question Number : 113 Question 1d : 6154756551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Women are much more disadvantaged in their access to employment and earnings than

men’. What reasons Bina Agarwal points out in her writings?

(a) Women are more organized and vocal.

(b) Lesser job mobility of women.

(c) Easy access of women to information on job opportunities.

(d) Confinement of women to casual work 1n agriculture due to technology.

Choose the correct option :

(1) (a) and (b)
(2) (b) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
615475255449 1
615475255580 2
61547525551 2
61547525552 4

Question Number : 113 Question Id ;: 6154756551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TR 31 FAE F Tl e #i 7,'JI:E =) nif.':ﬁ G| GEE] 5 sfe T T 4t R
AT Fid (1989) H TR~ Fol 1 seer@ Fdl 37 b B
(a)  HiEeU AU Bfa SR gET w6 E |

(b)  HiEenH I AUETHRA FH T Tavierd w2l & |

L5

() & YR T FIAT F Wi RiEenzA] il S A

(d) H"ff;jilql AFl & FE Tfﬁl o wAfad =9 °§ gfeans1 F1 99 59 |

(1)  (a) 5 (b)
(2)  (b) #HE (d)

(3)  (b) # ()

(4)  (a) 3 W (d)

Options:

£1547525549. 1
61547525550 2
61547525551,
61547525552 4

Question Number : 114 Question Id ;: 6154756552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are the traits of successful entrepreneurs?

(a) Desire for responsibility

(b) Orented more towards present than future.
(c) Optimistic

(d) Scareness of fallure

Choose the correct option :

(1) (a). (b). (c) and (d) (2) (a). (c) and (d) only
(3) (b). (c) and (d) only {(4) (a)and (c) only
Options:

61547525552, 1
61547525554, 2
E1547525555. 3
E1547525556. 4



Question Number : 114 Question Id : 6154756552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FTeaEd § 5 $E-F1 OF I5a0F F SAgaE & 7

(a)  ITTEIEE =T
(by W= F o H TAEA F UG AT A" 7

(c) HENER]
(d) ATFAAT § 99T =

a3 F1 T899 F

(1) (a). (b). (e) 3T (d) (2)  Ed (a). () 3 (d)
(3) === (h). (c) F#F (d) (4) =a (a) 3F (c)
Options:

E1547525553. 1
E1547525554. 2
E1547525555. 3
B1547525556. 4

Question Number : 115 Question Id : 6154756553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following diseases are caused due to malnutrition among children?

(a) Kwashiorkor (b) Measles

(c) Marasmus (d) Diarrhoea

Choose the correct answer :

(1) (b) and (c) are correct (2) (a) and (d) are correct
(3) (c) and (d) are correct (4) (a) and (c) are correct
Options:

BE1547525557. 1
B1547525558. 2
61547525559, 3
61547525560, 4

Question Number : 115 Question 1d : 6154756553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Feferfiga 9 @ ®E-FF § W0 F=G § HAO0] % B0 369 Bid B 7
(a) AT (b) @HT
(€ =@ T @ =z

(D (b) 3R () =F 2 @) (a) ¥R (@) 7 3
@ @I @FR @) (a) 3R () T 3
Options:

61547525557, 1
61547525558, 2
61547525559, 3
E1547525560. 4

Question Number : 116 Question Id : 6154756554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following chronologically in terms of the vear of establishment.

(a) The Indian Association of Women's Studies
(b) All India Womens' Edcucation Fund Association
(c) National Counecil on Women's education

(d) National Literacy Mission

Choose the correct option :

(1) (b). (c). (a). (d)
(2) (c). (b). (d). (a)
(3) (b). (a). (c). (d)

(4) (b). (d). (c). (a)
Options:
61547525561, 1
61547525562 2
61547525563 3
61547525564 4

Question Number : 116 Question Id : 6154756554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feAferiad = a1 % a9 #1 2f2 ¥ Fewd F FFER Fanad w1

(a) < 3feaa vEIbE 1% SH w2

(b) AT sfeam Hi0H TIHIE 3 vEifEE

(c) I HEES 3 FHE TR

(d)  TEE mEEal HeE

Iﬁﬁiﬂ?ﬁﬂ‘ﬁTi?ﬂH'?i:

(1) (). (c). (a). (d)
(2) (c). (b). (d). (a)
(3) (b). (a). (c). (d)

(4) (D). (d). (. (a)
Options:
615475255611
61547525562 2
61547525563 2
61547525564 4

Question Number : 117 Question Id : 6154756555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the beginning period of Panchavati Raj System. what were the main objectives?

(a) To empower women at village level.
(b) Local participation in planned programme.
(c) To promote girl child health care.

(d) Democratic decentralization.

Choose the correct option :

(1) (a) and (d)
(2) (b) and (d)
(3) (¢} and (d)

(4) {a) and (b}
Options:
615475255651
61547525566, 2
61547525567 2
61547525568 4

Question Number : 117 Question Id : 6154756555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T T UMl 2 TR Sl § g g Sgavd 9 7
(a) UM T U HIECHAT F HI HA

(by  THI= FEFA H A TR

(c)  WIeTH 259 %A 1 |grEl oA

{d} W‘,‘-{,Jﬂwﬁmi: HERN

(1)  (a) 3 (d)
(2)  (b) H (d)
(3) (c) T (d)

4y (a) #F (b)
Options:
61547525565 1
61547525566, 2
61547525567, 3
61547525568 4

Question Number : 118 Question 1d : 6154756556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following give support to the formation of Self-Help Groups?

(a) DRDAs
(b) NGOs
(c) PRIs
(d) CBOs

Choose the correct option :

(1) {a). (b) and (c) only
(2)  (a).(c) and (d) only
(3)  (a). (b). (c). (d)

(4) (a). (b) and (d) only
Options:
6154752556491
61547525570, 2
61547525571 =
61547525572, 4

Question Number : 118 Question Id : 6154756556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



l|-’
=4

f=fefaa 5 @ i -9 T9a1 F T34 % o TEar 9 il

.

A 97 & =99 FH

(1) == (a). (b) X (o)
(2)  FEA (a). (c) #T (d)

(3) (a). (b). (c). (d)
(4)  =ad (a), (b) FAT (d)

Options:

61547525569 1
61547525570, 2
61547525571, 5
61547525572 4

Question Number : 119 Question Id ;: 6154756557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List — I with List —IT

List I List IT
(a) Gulab Bax (1)  Classical Singer
(b) Teejan Bax (1) Classical Dancer
(c) Girya Dewna (1) Nautank: Performer
(d) Sonal Mansingh (tv) Pandavani Performer

Choose the correct option :

(D (2)-(i), (b)-(id), (e)-(), (d)-(iv)
(2)  (a)-(id), (b)-(iv). (e)-(1). (d)-(i)
(3) (a)-(1), (b)-(m1). (c)-(1v), (d)-(2)
(4) (a)-(111), (b)-(11), (c)-(1v). (d)-(1)

Options:

£1547525573. 1
E1547525574 2
61547525575, 5
61547525576 4

Question Number : 119 Question Id ;: 6154756557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=11 1 g=1-11 % |19 g #1

=11 T=-10
(@) TS ST (1) e T
(b) A = (i) S A
(¢) s 2 (iii) 12l T
(d) =FA TR (iv) T T

A faFeT =741

1 (2)-Gi). (b)-@D), ()-@). (d)-Gv)
(2)  (a)-(ii). (b)-(iv). (c)-(1), (d)-(i1)
(3)  (a)-(i). (b)-(iid), (c)-(iv), (d)-()
(4  (a)-Gid). (b)-(D). (e)-(iv), (d)-(1)

Options:

615475255731
61547525574 2
E1547525575 2
61547525576, 4

Question Number : 120 Question Id : 6154756558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Matech Last-1 with TLast — 1T :

(a)

(b)
(c)
(d)

ListI
(Reformers)

Swarnakumar Dew1

Lady Tata
Annie Besant
Margerett Elizabeth Cousin

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(11). (b)-(1). (c)-(i11). (d)-(v)
(a)-(1). (b)-(i1). (c)-(i11), (d)-(1v)
(a)-(1). (b)-(1v). (c)-(). (d)-(1i1)
(a)-(v). (b)-(11). (c)-(11), (d)-(1)

B1547525577. 1
BE1547525578. 2
B1547525579. 3
61547525580, 4

(1)

(11)
(111)
(iv)

List IT
(Organizations)

The National Council of Women in
India

Sakhi Samiti

Theosophical Society

All India Women's Conference

Question Number : 120 Question 1d : 6154756558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TA-1 = g=-I1 F |19 FHfe 1

=11

(a) EEOIFAT T

b) =z

() T H=Z

(d) TWUE ofEEEg FiaA
HE fameT =4
(1) (a)-Gi). (b)-(). (e)-(iii). (d)-(v)
(2 (a)-1). (b)-(i). (e)-(id). (d)-(iv)
(3) (-, ®)-v), (e)-@1), (d)-(iii)
@ (a)-v). (b)-(1). (e)-(iid). (d)-(2)

Options:

615475255771
61547525578, 2
61547525579, 3
E1547525580. 4

Question Number : 121 Question Id : 6154756559 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MCQ Option Shuffling : No Display Question Number : Yes



Match List-I with List — II:

(a)

(b)

(c)
(d)

List I
(Feminizm)
Liberal Feminism (1)
Radical Feminism (11)
Post-Modern Feminism (111)
Marxist Feminism (1)

Choose the correet option :

(1)
(2)
(3)
(4)

Options:

(a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(a)-(1). (b)-(m1). (c)-(1v). (d)-(11)
(a)-(1m1). (b)-(1v). (e)-(1). (d)-(11)
(a)-(11). (b)-(2). (c)-(111). (d)-(1v)

51547525581, 1
61547525582, 2
61547525582, 3
E1547525584. 4

Last II
(Ideologv)
Deconstructing and valorzing plurality

Resist trivilization of women's

domestic work
Protection of Civil Rights

Patnarchy

Question Number : 121 Question Id : 6154756559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o=1-1 =i g=i1-11 = = gofed

F=1-1 H=1-10
(Frtam) (frmeam)
(b) 3 AHER (i) AR F e HE F TG oI B
(c) ST-ATGEF THER (i) T ATGRET = TIET
(d)y HFHERE AEEE (iv) o=

R T =4

(1) (a)-(11). (b)-(11). (¢)-{1). (d)-(1v)
(2) (a)-(1), (b)-(111). (c)-(1v). (d)-(11)
(3) (a)-(111). (b)-(1v). ()-(1). (d)-(11)
(4) (a)-(11). (b)-(1). (¢)-(111). (d)-(1v)

Options:

61547525581, 1
61547525582 2
E1547525582 =2
61547525584, 4

Question Number : 122 Question Id : 6154756560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-T with Last — 1T :

List I
(a) Welfare

(b) Equty
(c) Efficiency

(d) Empowerment

Choose the correct option :

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(iv)
2 (@-(w). (b)-0). (€)-1), (d)-(v)
(3) (a)-(v). (b)-(2). (¢)-(12). (d)-(111)
4 (@-). (b)-({i), (©)-(v), (d)-1)

Options:

61547525585 1

61547525586, 2

E1547¥525587. 3
E1547525588. 4

(1)

(11)
(111)

(1v)

List IT

Stressed on employment opportunities
and economic independence for women
development.

Women should be active participants
of development process.

Did not attempt to change the
traditional role of women.

Control over material resources.
information, authority and 1deology.

Question Number : 122 Question Id : 6154756560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



TA1-1 =1 g1-11 % T19 FH F

-1 T=I-11
(a) e (i) dfeens * fawm + o gm s w1h
ATF T W g
(b) HEEET (i) WHEHA H EEE U H HEE 9T
=M1 =R
(c) =& (i) WiEensl F TWEEE YHFE B THErad e
% T w3 T8 =
(d) =i (iv) Wifa® HEes, G=H1, TS AR EEREn
o

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(4) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
Options:

61547525585, 1

61547525586, 2

61547525587, 3

61547525588. 4

Question Number : 123 Question Id : 6154756561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mateh Last-T with Last — 11 :

List I
(a) Queer theory (1)
(b) Muted group theory (11)
(¢) Ethnography (111)
(d) Femimist Stand Point (1v)

Choose the correct option :

(1) (a)-(111). (b)-(1). ()-(iv), (d)-(11)
(2) (a)-(1). (b)-(11), (e)-(111), (d)-(1v)
(3) (a)-(m). (b)-(111). (€)-(iv). (d)-(1)
(4) (a)-(1v). (b)-(11). (¢)-(1i), (d)-(1)

Options:

61547525589, 1
61547525590 2
£1547525591. =2
61547525592, 4

List IT

Concerns certain groups of people who
remains powerless 1n soclety

Critical thoughts on  women's
experiences and 1ts relationship to
larger political and social structures.

Focus to encompass any kind of sexual
activity or identity that falls into
deviant categories.

Study of people in their environment.

Question Number : 123 Question Id : 6154756561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



T=1-I = gel-I1 = 1% GHfAT

F=I-1

(a) FEER =T

(b) T #79E fagm

(c) H=mia Fh

(@) =ERE w2vE wEe
(1) (a)-(111). (b)-(1). (c)-(v), (d)-(11)
(2) (a)-(1). (b)-(11). (c)-(111), (d)-(w)
(3)  (a)-Gi). (b)-(ii). (¢)-Gv). (d)-()
(4) (a)-(1v). (b)-(i1). (c)-(111). (d)-(1)

Options:

61547525589, 1
615475255380, 2
615475255391, 3
E1547525582. 4

Question Number : 124 Question Id : 6154756562 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

() T = Hia9w @ § H@EiEd & S @6 o

(i) TfEena F w999 A0 =0F TIAaE AR
T S & Ui oA J6Y % §E §
AT T W Hiegd 7 J1 FIATHT A0 F
HET T # |

(iv) 0T = I T § A

MCQ Option Shuffling: No Display Question Number : Yes



Match List-I with List — 11 :

List I
(a) Beti1 Bachao Bet1 Padhao (1)
(b) Sukanya Samridhi Yojana (11)
() Ujpwala (111)
(d) Swadhar Grih (1v)

Choose the correct option :

(1 (@)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(11). (b)-(1). (¢)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(1). (b)-(11). (c)}-(1v). (d)-(111)

Options:

61547525593 1
61547525594 2
£1547525595 =2
61547525596, 4

Last IT
Scheme for girl child prosperity

Scheme for equal opportunity and

education for girls

Scheme for women 1n difficult

s1tuation

Scheme for prevention of trafficking

and rescue

Question Number : 124 Question Id : 6154756562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



g1 1 g-11 F Y gHEd w5

-1 THi-11
(a) =2 =TT A TSI (i) e Tl T
(b) HF= THtG A= (i) @Sl F A HEH SEE S T aee
(c) TTaae (1ii) i34 4G T BiEensT F =0 I
(d) TE9R TR (iv) 99 =R FEre 3 s T

(1) (a)-(v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(4) (a)-(1). (b)-(11). (e)-(1v). (d)-(111)

Options:

61547525593 1
61547525594 2
61547525595 =2
E1547525596 4

Question Number : 125 Question Id : 6154756563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with Tast — 11 :

(a)

(b)

(c)

(d)

Tast I
(Research Design)
Exploratory

Diagnostic

Experimental

Descriptive

Choose the correct options :

(1)
(2)
(3)
4

Options:

(a)-(11). (b)-(v). (¢)-(111), (d)-(1)
(a)-(11). (b)-(111). (c)-(1v), (d)-(1)
(a)-(1v). (b)-(11). (¢)-(111), (d)-(2)
(a)-(111). (b)-(v). (¢)-(1), (d)-(11)

615475255397, 1
E15475255598. 2
E1547525599. 3
B15475256800. 4

(1)
(11)

(111)

(iv)

List IT
(Application)
Used for comprehensive study of the
problem.

Jsed where lmited knowledge 1=
available.

Used for finding out the causes of the
problem to make attempts for solution
of the problem.

Used for systematic study of human
relation by making observative under
controlled conditions.

Question Number : 125 Question Id ;: 6154756563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HAI-1 1 F=-1I1 % T gHfEA

T=-1 11
(it safirrea) ()
(a) FE= (1) T99 9 9TE FH F G0 G # o=
ST AT
(b) F=TEF (i) =& HifEa T 3T 2, T T
(¢) THITIEHF (iii) TEEET 1 HHTEE U % 0 T

(d) T (iv) Tafm feafagt % =@ 9aw =0 99d

(1) (a)-(1). (b)-(v). (c)-(111). (d)-(1)
(2) (a)-(11). (b)-(111), (¢)-(1v), (d)-(1)
(3)  (a)-(w). (b)-(). (e)-(111). (d)-(2)
(4) (a)-(111). (b)-(v). (e)-(1). (d)-(11)

Options:

615475255971

615475255398 2

61547525599 2

61547525600, 4

Question Number : 126 Question Id : 6154756564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List —I1:

Last I Last IT
(Books) (Authors)
{a) Women's Role in Economic (1)  Caroline Moser
Development
(by Gender Planning and Development (1) Ester Boserup
(c) Sex. Gender and Society (111) Amartva Sen
(d) Development as Freedom (1v) Ann Qakley

Choose the correct answer :

(1) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(3) (a)-(1). (b)-(11). (¢)-(111). (d)-(1v)
(4) (a)-(11). (b)-(1v). (e)-(111). (d)-(1)

Options:

61547525601, 1
E1547525602. 2
1547525602 5
61547525604, 4

Question Number : 126 Question Id : 6154756564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FA1-1 1 Ffi-1I1 & =19 i =

Ti-1 T-IT
(757 (7
(a) THA T A THEHATHF SAAHE (i) i 7R
(b) ST AT UUT TEETHE (i) T Ay
(¢) TFH, ST UUZ THETE (i) #Hed H
(d) <=I=UHz US $isH (iv) TF HATHAI

(1) (a)-(). b)-(). (c)-(ii), (d)-({iv)
(2  (a)-(1). 0)-(). (e)-(v), (d)-(11)
(3)  (a)-(). (b)-(i). (e)-(id), (d)-(iv)
(4)  (a)-(11). (b)-(iv). (c)-(11), (d)-(1)

Options:

61547525601, 1
61547525602, 2
61547525602 2
E1547525604 4

Question Number : 127 Question Id : 6154756565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) :

Reasons (R) :

The Women's Movement that emerged in the 1960°s had a strong impact

on college and University to start women's studies as an academic

discipline.

The women academicians 1n Umiversities and colleges participated in
women's movements that promoted women's studies as an academic

discipline.

Choose the correct option :

(1) Both (A) and (R) are correct.

(2) (A) 1s correct (R) 1s incorrect.

(3) Both (A) and (R) are incorrect.

(4) (A) 18 1ncorrect (R) 1s correct.

Options:

61547525605, 1
61547525606, 2
61547525607, 2
61547525608 4

Question Number : 127 Question Id : 6154756565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATHTT (A) ofzem SR, 1 1960 F Z5 % 991 § W, F1 UF A faeaema F =9 H

Tz WA IE FH H T2 ° gEEgEeE AR EvaEeaeE W asd SAgE e

REIR
7% (R) : TavatEsaeE 31 geTacare UG 1 & Hieell STFEHIEEAT 4 Higen e 5 9F T

5 v St e # =9 ° qfEen ssmmT i aeE 6 |

I L
Tzl Tahed =l = W

(1)  (A) #r (R) g1 9&t 3
(2) (A) Tt 2, (R) o4 2
(3) (A 3R (R)ZF1 7T=4 2

(4) (A TeE F, (R) =8l 7
Options:

1547525605, 1
1547525606 2
61547525607 2
61547525608 4

Question Number : 128 Question 1d : 6154756566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-T with Tast-11 :

List I Last IT
{a) The Criminal Law (Amendment) Act (1) 1988
(b) The Indecent Representation of i .
ol {n) 1956
Women (Prohibition) Act
{c) The Immoral Traffic (Prevention) Act (1) 1986
d The C 1551 f Sati Prevent: .
(cl) e Commission o at1 Prevention Gv) 2013

Act

Choose the correct option :

(1) (a)-(11). (b)-(1v). (e)-(111). (d)-(1)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (e)-(111). (d)-(1)
(4) (2)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options:

51547525609, 1

51547525610, 2

61547525611, 3
61547525612, 4

Question Number : 128 Question Id : 6154756566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



w=it-1 =i gei-11 = |79 GHfed o

T=1-1 T=-11
(a) STOUTEEs TE FemET AtatEe i) 1988
(b) HE=AT H AT Uidgey (W) (i) 1956
iy
(¢) sFfas =mur (fam) =wtutEs (iii) 1986
(d) =t W THEmer stEE (iv) 2013

(D) (2)-(D). (b)-(iv). (c)-(iii). (d)-()
(2 (a)-v). (b)-(11). (¢)-(), (d)-(1)
(3)  (a)-(v). (b)-(i). (e)-(iii), (d)-()
4 (@)-). (b)-(D). (c)-(11). (d)-(v)

Options:

61547525609, 1
61547525610 2
61547525611, 2
61547525612 4

Question Number : 129 Question Id : 6154756567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Rank the Countries in descending order with the highest Gender Development Index (GDI)
(I) Norway (II) Sweden

(III) Umted Kingdom (IV) Singapore

Select correct option :

(1) (I). (IT). (IID). (IV) (2) (ID. (D, (IV), (ITD)
(3) (IV), (ID. (IID), (D) (4) (ID. (III), (I). (IV)

291 = F=IaH TSl SAGTHE 599 (S B 3TE) % IEE ®E °H i #1

M - A ==
(IM) FArses frea AV)

(1) (I). (II). (IID, (IV) (2) (ID. (D, (IV), {III)
(3) (IV). (I)., (IID. (D) (4) (ID. (IID). (I). (IV)
Options:

615475256131
61547525614, 2
61547525615, 3
E1547525616. 4

Question Number : 129 Question Id : 6154756567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

297 o FEAaH WS SAeTHE SS9 (S S A1) T EUE B H -t Hi:
@ T D) ==
(II) Frze= = IV) ferm

(1) (I). (II). (IID. (IV) (2) ((ID, (I, (IV). (IID
{(3) (IV). (ID. (IID, (D) (4) (ID. (IID. (D. (IV)
Options:

E1547525613. 1
E1547525614. 2
B1547525615. 3
B15475256816. 4

Question Number : 130 Question Id : 6154756568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following legislations chronologically :

(a) The Indecent Representation of Women (Prohibition) Act

(b) The Protection of Women against Domestic Violence Act.

(c) Dowry Prohibition Act.

(d) E;;Kual Harazsment of Women at Work Place (Prevention. Prohibition and Redressal)
Act.

Choose the correct option :

(1) (a), (b), (), (d) (2) (). (a). (b), (d)
(3) (b), (e). (a). (d) (4) (a). (b). (d). ()
Options:

E1547525617. 1
E1547525618. 2
E1547525618. 3
B1547525620. 4

Question Number : 130 Question Id ;: 6154756568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

(@) = wAfEre =uw afaey st |

(b) =i femn F faway afeemsn =1 seam sty

(¢) == Uiauy wfatem

(d)  FEES T HEATA T4 IcdtsT (TRUE, afaeg va fan) staim

7l Tashed &1 991 W

(1) (a). (b). {e). (d) (2) (). (a), (b). (&)
(3) (b). (c). (a). (@ @ (a). (b (d). (e
Options:

61547525617, 1
E1547525618. 2
E1547525610. 3
BE1547525620. 4

Question Number : 131 Question Id : 6154756569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sequence the following steps involved 1n the Research Process :
(a) Samplhing

(b) Data Collection

(c) Preparing research design

(d) Hypothesis testing

(1) (a). (b). (c), (d) (2) (c). (a). (b). (d)
(3) (bi. (e). (d). (a) (4) (a). (d). (e), (b)
Options:

B1547525621. 1
B1547525622. 2
B15475256823. 3
E1547525624. 4

Question Number : 131 Question Id : 6154756569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oy igAT AR Fefetaa weat #1 swd 9

e

(a) PIGERE

(b) ARSI TUET

(€ g fimsa dam =e

(d) T wiET

(1) (a), (b). (c). (d) (2) (e (a), (b). (d)
(3) (b). (). (d). (a) (4) (a). (d). (c). (b)
Options:

E1547525621. 1
BE1547525622. 2
BE1547525623. 3
B1547525624. 4

Question Number : 132 Question Id : 6154756570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following tools of data collection 1n ascending order as per the involvement of
the researcher with the respondents :

(1) Interview, Case Study, Questionnaire. Participative Observation

(2) Participative Observation. Case Study. Interview, Questionnaire

(3) Questionnaire, Interview, Case Study. Participative Observation

(4) Case Study. Interview, Participative Observation, Questionnaire
Options:

BE1547525625. 1
BE1547525626. 2
B1547525627. 3
B1547525628. 4

Question Number : 132 Question 1d : 6154756570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SATFS] TUEY F (AANGd TRl H AEEE H SerEasl % Omd HEiiE 6 SEEn SRR &4 A

[

(1) HIEThIE, FH TZE0, TTAE, HEAT GET

(2)  TEATT WU, E T, TR, Tyl

(3)  TETEEl, WATERE, T FS1, TEAT WE

(4) Exe ZE1, IR, HEAT WA, TATEE

Options:

61547525625, 1
1547525626 2
E1547525627. 2
61547525628, 4

Question Number : 133 Question Id : 6154756571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following committees/commissions related to education chronologically

(a) Radha Krishnan Committee (b) Durgabal Deshmukh Committee
(c) Hansa Mehta Commaittee (d) Mudaliar Commission

Choose the correct answer :

(1) (a), (b), (c). (d) (2) (a), (d), (e, (b)
(3) (a), (d), (b), (c) (4) (b (c). (d). (a)
Options:

615475256291
61547525630, 2



E1547525631. 3
B1547525632. 4

Question Number : 133 Question Id ;: 6154756571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o 1 Tt Frf TR S e AT S

(2)  TrATFUR A (b) S G AT
(¢) == Al ®AM (d) HIER AET

(1) {a). (b), (c). (d) (2) (a), (d). (c). (b)
(3) (a). (d). (), () (4 (b (c). (d). (a)

Options:

61547525620, 1
615475256230 2
61547525631, 2
61547525632 4

Question Number : 134 Question 1d : 6154756572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A):  Feminist history refers to the re-reading and re-interpretations of history
from a feminist perspective.

Reasons (R) : History of feminism outlines the origins and evolution of the feminist
movement

Choose the correct option :

(1) Both (A) and (R) are correct (R) 1s not the correct explanation of (A4)
(2) Both (A) and (R) are incorrect
(3) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(4) Both (A) and (R) are incorrect and (R) 12 not the correct explanation of (A)
Options:
E1547525633. 1
61547525634 2
61547525635 2
61547525606 4

Question Number : 134 Question 1d : 6154756572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATTFIA (A) : AT sfaed AMEE 2w | sfaem F gAIe R [HHde @ |

(1)  (A) 3 (R) ZA1 781 & AR (R). (A) =l H&1 =awe 73 # |
(2) (A FAR (R) 241 T4 7
(3)  (A) 3R (R) 21 =& & =i (R), (A) 1 78 == 2 |
4 (A FR (R) A To4 7 317 (R), (A) i TR ==men T65 # |
Options:
61547525633, 1
61547525634, 2

E1547525635. 3
B1547525636. 4

Question Number : 135 Question Id ;: 6154756573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A): The women's studies movement has outdone the men 1n power hierarchy
and has ensured more power for women.

Reasons (R) : The women's studies movement has made some major break through, in
the content of research as well as in the methodologies employved.

Choose the correct answer :

(1) Both (A) and (R) are wrong
(2) Both (A) and (R) are correct
(3) (A) 18 correct (R) 1s wrong
(4) (A) 1s wrong (R) 1s correct

Options:

E1547525637. 1

61547525638 2

1547525639 3

51547525640 4

Question Number : 135 Question 1d : 6154756573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATFT (A) : AfEel A5 SR 5 Wi AfaEs 7 W #1922 on afzeen &

At wifFa giAfraa =1 3 |
F (R) : Ofzell AR AR F WY F Wg-a [T FE-ugae F 529§ 59 T9

T2 39 F T W

1) (A 3R R) A T 7
(2) (A FR ®R) A TA A
(3) (A)FAE, (R) & 7|
4 (AT=FE R TR

Options:

£1547525637. 1
E15475256328. 2
61547525629, 5
61547525640 4

Question Number : 136 Question Id : 6154756574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Oppressive lives of women are not onlv shaped by gender alone but by
other elements ag racism. classism ete.

Reasons (R) : Black women have a unique perspective on the oppression of the world
unlike white women.

Choose the correct option :

(1) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(2) Both (A) and (R) are incorrect

(3) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(4) Both (A) and (R) are incorrect and (R) 1z not the correct explanation of (A)
Options:

15475256411

1547525642 2

E1547525645 2

1547525644 4

Question Number : 136 Question Id : 6154756574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT (A) : nfzenant i FEATes e 3 ¥ ok S & g afes T, TR o 59
=6 dedl @GR i Bl F |

T ®): v HiEeTaA & 2 AT Hieetial F1 G G O (G ZiEeh we |

T2 9T =7 999 =+ -

(D) (A R (R) 37 78 2 A (R). (A) F 78 = 76 2 |
(2)  (A) 3R (R) FE T4 7

(3)  (A) ¥R (R) 91 =& # 3 (R). (A) Fi =& =w= 7 |

@ (&) 3R (R) ZA T 7 AT (R), (A) FFH =T =
Options:

15475256411

1547525642 2

61547525643, 3
61547525644, 4

Question Number : 137 Question Id : 6154756575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) :  Gender equality demands substantive transformation, a set of policies and
conditions created by the state that facilitates the reallocation of resources.

Reasons (R) : Gender relations are power relations, women lacking power lack access to
and control over their own labour mobility. sexuality and fertility.

Choose the correct option :

(1) (A) 18 correct but (R) 1= Wrong
(2) Both (A) and (R) are correct but (R) 1= not the correct explanation for (A)
(3) Both (A) and (R) are correct and (R) 1s the correct explanation for (A)
(4) (A) 12 wrong but (R) 1s correct
Options:
61547525645, 1
61547525646, 2
61547525647 o
61547525648 4

Question Number : 137 Question 1d : 6154756575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



5 (®): Srew s i e £, e o o e e S = 6 m S
ST BEfd] T TEd AR EEA T 6 9 E

(1) (A =& 2 fd (R) 7@ 7 |

(2) A #AR R) ZA T E B (R). (A) Fi w5 = 165 E
(3) (A 3R (R) 31 @A 2 # (R). (A) F1 w8 =men 2 |
@) (A ToE R R) 7E R

Options:

E1547525E45 1

1547525846 2

E1547525647. 3
61547525648, 4

Question Number : 138 Question Id ;: 6154756576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A): Femimist stand point knowledge attempts to replace the view from
nowhere.
Reasons (R) : A Feminist approach to epistemology seeks to establish knowledge

production from a women's perspective.
Choose the correct option :

(1) Both (A) and (R) are incorrect
(2) (A) 18 1ncorrect and (R) 1s correct
(3) (A) 18 correct and (R) 1s incorrect
(4) Both (A) and (R) are correct

Options:

E1547525649. 1

61547525650 2

1547525651 2

61547525652 4

Question Number : 138 Question 1d : 6154756576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT (A) - THfEE] fag S W st 2 S A o oft famm w0 afoenfia e e v e # |

@ (R) : A AT _'5 T ARIEET e AiEel % 9A0ET B [ Io7Ed AT A 6
YT T 7 |

(1) (A 3R (R) = T4 7 |
(2)  (A) 7 7 #E (R) TE 2
(8) (A TFE E #HE(R) 7oA B
4 (A 3R (R) 41 &4 2
Options:

15475256459 1

1547525650 2

61547525651, 3
61547525652, 4

Question Number : 139 Question 1d : 6154756577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : In most of the crimes, women are not able to register FIR.

Reasons (R) : Under zero FIR. first information report can be filed only 1n a police
station under the territorial jursdiction where the incident of crime
happened.

Choose the correct answer :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation for (A)
(2) Both (A) and (R) are wrong
(3) (A) 1s correct and (R) 1s Wrong
(4) Both (A) and (R) are correct and (R) 1s not the correct explanation for (4)
Options:
61547525653 1
61547525654 2
E15475256855 2
61547525656, 4

Question Number : 139 Question Id : 6154756577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATFAT (A) SATERTST ST 0, HiEA0 UF ATE E 59 FaE § Id T8 B 2

@ (R) : I URHAEAT A (98 TH W AEE ge 58 7, d8 % YoE W9 h
SR & 3307d ael TU9 g=A1 70912 79 1 1 Tl 2|

(1) (A) 3 (R) 5F1 T8 & #T (R), (A) = 81 =ame 2 |
(2) (A =W (R) 3F1 7o 7

(3) (A)TF 2 ¥R (R) 7o 2 |

4)  (A) #R (R) 3H1 =& # 3 (R). (A) F GE = TH 2

Options:

61547525653, 1
61547525654 2
61547525655 2
E1547525656 4

Question Number : 140 Question Id : 6154756578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A): Widows in India represent one of the most disadvantaged groups of
women.
Reasons (R) : The stigma of widowhood 18 very much prevalent in many parts of India.

Choose the correct answer :

(1) (A) 18 correct but (R) 1= wrong and (R) 1s not the correct explanation for (A)
(2) Both (A) and (R) are correct and (R) 1s the correct explanation for (A)
(3) (A) 1z wrong but (R) 1s correct
(4) Both (A) and (R) are wrong
Options:
15475256571
1547525658 2
E15475256859 2
1547525660, 4

Question Number : 140 Question Id : 6154756578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SATFRI (A) : TR | TI9am Afaest = it afad Jgat 1 JaEtae el f |
% (R) : J4=g T oA G AT AT 2 S YWa % 957 9 9v 4 s #

1) (A)TH 2 g (R) 7o 2 3 (R). (A) F1 8 = 95 2
(2) (A 3R (R) 2A1 921 & &1 (R). (A) 1 T8 =3me=m 2 |

(3) (A) T # Thg (R) &80 2 |

4 (A R R) A T A

Options:

L1E47EZEREETY 1

L1547 EZERER. 2

61547525659, 3
E1547525660. 4

Sub-Section Number: 2
Sub-Section 1d: 615475291
Question Shuffling Allowed : Yes

Question Id : 6154756579 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Question Label : Comprehension
Read the following passage and answer the guestions given below. Select the most

appropriate option :

One fundamental wayv in which gender 1s expressed in any society 1s through technology.
Technical skills and domains of expertise are divided between and within the sexes. shaping
maszculinities and femimimities. Men are viewed as having a natural affimity with technologv.
whereas women supposedly fear or dishke 1t. Men activelv engage with machines. making.
using. tinkering with and loving them. Women may have to use machines. in work place or 1n
the home. but they neither love nor seek to understand them. Thev are considered passive
beneficiaries of the 1nventive flame. The modermst association of technologvy with
masculinity translates into evervday experiences of gender. historical narratives.
emplovment practices. education. The design of new technologies. and the distrmibution of

power across a global society 1n which technology 1s seen as the driving force of progress.

Sub questions

Question Number : 141 Question Id : 6154756580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage. masculimities and feminimties are shaped by

(1) The food we eat (2) The work we do
(3) The games we play (4) The stories we read
Options:

E1547525661. 1
BE1547525662. 2
B15475256863. 3
61547525664, 4

Question Number : 142 Question 1d : 6154756581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What 1z the role of technology? Select the most appropriate option :

(1) It 1s productive and useful
(2) It has destabilizing potential and transformative role.
(3) It 13 innovative and inspiring.
(4) It is mechanical and technical.
Options:

BE1547525665. 1
B1547525666. 2
B15475256867. 3
61547525668, 4

Question Number : 143 Question Id : 6154756582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What does the passage tell us about technologv and gender? Select the most appropnate

option :
(1) Both are socially constructed
(2) Both are whimsieal

(3) Both are difficult to engage with

(4) Both need redesigning
Options:
E1547525669. 1
61547525670 2
1547525671 2
E1547525672 4

Question Number : 144 Question 1d : 6154756583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A): Gender 1s expressed In any soclety in a fundamental way through
technology.

Reasons (R) : Boys huddle around the computer screen practicing hacking skills, while
girls develop new communication codes using emotions.

Choose the correct option :

(1) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).
(2) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(3) Both (A) and (R) are incorrect
(4) Both (A) and (R) are incorrect and (R) 1s not the correct explanation of (A).
Options:
61547525673, 1
61547525674 2

E1547525675. 3
E154752567E6. 4

Question Number : 145 Question Id : 6154756584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What will be the impact of New technologies?
Select the most appropriate option :

(1) Increase drudgery for women

(2) Shaping configurations of power

(3) Make women passive
(4) Make men active
Options:

B1547525677. 1
B1547525678. 2
B1547525679. 3
61547525680, 4

Question Id : 6154756579 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



FefeEa e i 9E w7 i 5 T uv % I F | meE ataE 39 fTEen T w1

UF itk TR ATl ¢ (e meas 9 e gEe 8 Tom sAiasaga w2 | aeheieh i #in
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Sub questions

Question Number : 141 Question 1d : 6154756580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. & - it SRR L RS T 8 . o 4 -
TTEAT F ITIER TEeal 3R FHiedl T e gRl SR =41 Jan 7 7

(1) =% 5[ 1 59 @ 3 (2) =% FW Al FA A
(3) @ @ FH e 7 (4) o T S FE Ted A
Options:

61547525661, 1
E1547525662. 2
E1547525663. 3
B1547525664. 4

Question Number : 142 Question Id ;: 6154756581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) Tz ITEF 1 399 BAT 2
(2)  sHE SR HEEAT AN FAEE i B E |
(3) T TFE ofit T A 2

(4)  T= TR 37T TR BT 7 |

Options:

61547525665, 1
61547525666 2
E1S547525667. 2
61547525668, 4



Question Number : 143 Question Id : 6154756582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tz TEA TIEATR 3R 7 % a6 ° 26 99 SamEl 7 7 HeH A0 3999 [Hhed 1 99 H

(1) = oS =9 H HEdG =6

(2) w29 EM 7 |

(3)  =HET F AN TS FEE FET FieA =647 7 |
(4)  =A* e EaidEern F1 =T w2

Options:

61547525669, 1
61547525670 2
61547525671, 2
1547525672 4

Question Number : 144 Question Id : 6154756583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AaFIF (A) el W TATH | T WETeR & 91599 | Hiles 9 | ST9sad R ST E
% (R) : T5H A T 1 AT A 5 B Hh F AW AN 5923 w0 d43d 7, T4

(1) (A) 3T (R) =H1 941 & (R), (A) F1 771 == 721 7 |
(2) (A 3R (R) I 781 £ 37 (R), (A) Fi T == 2 |
(3) (A #AR (R) A TeE F |

@) (A R (R) IF 7@ 7 A7 (R), (A) F T = T A

Options:

61547525673, 1
61547525674 2
61547525675 2
1547525676 4

Question Number : 145 Question 1d : 6154756584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



% AT 1 1 W9 AT 7 HeE A IR AeT 1w H
(2) W F TE=mE = e Fw| 2
(3)  aieensn =+ Ffera s # |
{4]‘ ]I'.f.ﬂ a:ﬁa% e ;;Ni hl%l
Options:
15475256771
1547525678 2

61547525679, 3
E1547525680. 4

Sub-Section Number: 3
Sub-Section 1d: 615475292
Question Shuffling Allowed : Yes

Question Id : 6154756585 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Question Label : Comprehension
Read the following passage and answer the questions given below. Select the most

appropriate option :

All the techmigues of gathering evidence are basically there. whether femimist or non-
feminist. histening to informants, observing behaviour. consulting written records. The
feminist method 1s not a new method or methodology but by and large a new way of looking
at established ways of asking new questions:; detecting relationships. linkages where none
was suspected. discovering new sources of data: designing research that tells a better story
like oral historv or case study. forging new conceptual tools hike new attempts In economics.
Our methodologies are drawn from our academic discipline each of which invents a language
and a set of conceptual tools unique to 1t. This compartmentalizes our life experience vet to
bring 1n inter-disciplinarity 1s not easy. There 1= often a confusion between inter-disciphinary
and multi-disciplinary. It 1s multi-disciplinary when a topic 1= addressed by different
disciplines. ‘Inter disciplinary’ on the other hand means that we integrate the conceptual
tools 1nto analysis. Qualitative methods are difficult. biased and unauthentic unless done
with care. Thev do not have built-in checks to ensure validity and reliability rather there
may be gaps. exaggerations and distortions. The ‘sigmificant’ informant mav not be
representative. Quantitative and qualitative methods are not mutually exclusive catezories,
The bird's eve view and the women's eve view are both needed.

Sub questions

Question Number : 146 Question Id ;: 6154756586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s correct about feminist methods?

(a) It relies more on multi-disciplinary approach

(b) It 1= a new way of looking at the established ways of research.
(c) It uses conceptual tools of other disciplines

(d) It discovers new sources of data.

Choose the correct opton :

(1) (a). (b) and (d)
(2) (a). (b). (c) and (d)
(3) (a) and (d)

(4) (c) and (d)
Options:
61547525681, 1
61547525682 2
61547525683, 3
615475256584, 4

Question Number : 147 Question 1d : 6154756587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following are the basic techniques of gathering evidence for feminist?

(a) Listenming to informants

(b) Observing behaviour
(c) Conducting training for researcher and respondents.
(d) Consulting written records.

Choose the correct option :

(1)  (a). (b). (c) and (d)
(2) (b). (c) and (d) only
(3) (a). (b) and (d) only
(4) (a). (b) and (c) only
Options:
61547525685, 1
615475206586, 2

E1547525687. 3
E1547525688. 4



Question Number : 148 Question Id : 6154756588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s meant by inter-disciplinary?

(1) When any topic 1s addressed by different disciphines.

(2) When many topics of different disciplines are integrated into one course.

(3) Interdisciplinary and multi disciphinary are used interchangeably.

(4) When the conceptual tools of different disciplines are integrated into analysis.
Options:
E1547525659. 1
61547525690, 2

E15475256591. 3
B15475256382. 4

Question Number : 149 Question 1d : 6154756589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 18 correct about qualitative methods?

(1) Qualitative methods are easy to conduct for even the untrained researcher.
(2) Qualitative methods mayv be having gaps. exaggerations and distortions if not used
with care.

(3) Qualitative methods have built in checks to ensure validity and relhiability of data.

(4) The significanct informant in gqualitative methods may be representative of the
whole.

Options:

E15475256493 1
61547525604, 2
61547525695 o
61547525696, 4

Question Number : 150 Question Id ;: 6154756590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A): The bird's eve view and the women's eyve view are both required while
applying any method to feminist research.

Reasons (R) : Both Quantitative and Qualitative methods are mutually exclusive
categories.

Choose the correct options :

(1) (A) 18 correct (R) 1s wrong
(2) Both (A) and (R) are correct
(3) (A) 1z wrong and (R) 1s correct

(4) Both (A) and (R) are wrong.



Options:

61547525697, 1
61547525698 2
E1547525699 2
61547525700, 4

Question Id : 6154756585 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 146 Question Id : 6154756586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b)  TF Y T EUTOA AR G T O A a0
(©) == ZEdl fagammanstt % Gahcacas QAT 1 ST Fidl 2 |

@ 7 S A e w2
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(1)  (a).(b) T (d)
(2)  (a). ®). (c) 77 (d)
(3)  (a) ¥ (d)

(4) (o) w7 (d)

Options:

615475256511
61547525682, 2
61547525682 o
61547525684, 4

Question Number : 147 Question Id ;: 6154756587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faafafiga @ @ #i7 TrfaE % fow gam 20 $i qifes ofafa 27

(a)  FEAEEIEAD T OEE

(b)  THEEE T FEAT
(€)  IMG=EAIH] FHN ITaEIs = o0 Wieo §=rie

(d fofes Afveral 5 wme w6

(1)  (a). (b). (c) 3017 () (2) === (b). (o) =7 (@)
(3) === (a). (b) 3 (d) (4) =a (a). (b) 37 ()
Options:

B1547525685. 1
B15475256886. 2



BE1547525687. 3
B1547525688. 4

Question Number : 148 Question Id ;: 6154756588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

S TG ) F A B ¢

(2) =@ fafe= TogEemmen % % &9 F vF ST 0 v A S E |

(3) AR - o 7R an- e SUwm 1 WEn afEdHE 9 T I e f
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Options:

61547525689, 1
61547525630, 2
61547525631, 3
E15475256582. 4

Question Number : 149 Question Id : 6154756589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547525693, 1
61547525694, 2
61547525695 2
61547525696, 4

Question Number : 150 Question Id : 6154756590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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